
90௢ 90௢

⊥∶ Perpendicular 90௢

Radius ⊥ to Tangent

90௢

Radius ⊥ to Chord

⊥ Bisects Chord & 
goes through Centre

(Bisects: Cuts in Half)

Exterior Point (Ext Pt)

90௢

90௢

90௢

Inscribed ∠ in a 
Semi-Circle = 90௢

Tangents to Exterior 
Points are Equal. A

B

OO

O
O

C D

E

F

       If: 𝑂𝐸 = 𝑂𝐹
Then: 𝐴𝐵 = 𝐶𝐷

O

90௢

O

Tangent

Tangent: Line 
meets Circe 
Edge

∠1

∠2∠3

∠4

∠1 + ∠2 = 180௢

∠3 + ∠4 = 180௢

∠1 + ∠2 + ∠3 + ∠4 = 180௢

Interior Angles in a Cyclic 
Quadrilateral sum to 360௢.

60଴

60௢

∠ Between 
Tangent and 
Chord =
Inscribed Angle 
Opposite of 
Chord.

Pentagon: 5 Sides Draw Triangles to Vertices
(Without Overlap)

180௢

180௢

180௢

108௢

108௢

108௢108௢

108௢

𝐼𝑛𝑡∠ᇱ =  
# ∆ᇱ𝑠 × 180௢

𝑛
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

 ∑ Int ∠ =   (𝑛 − 2) × 180௢

Int : Interior
Ext : Exterior
   𝑛 ∶ # of Sides
   ∑ : Sum

Int ∠ =  
∑ ୍୬୲  ∠ᇲୱ

௡
⎯⎯⎯⎯⎯⎯⎯=

(௡ିଶ)×ଵ଼଴೚

௡
⎯⎯⎯⎯⎯⎯⎯⎯⎯

Int ∠ =  
ହସ଴౥

ହ
⎯⎯⎯⎯

Int ∠ = 108௢

72௢

Int ∠ᇱ𝑠

Ext ∠

Ext ∠ᇱ𝑠 ∑  =  360௢

 ∑ Int ∠ =   (5 − 2) × 180௢

 ∑ Int ∠ =   3 × 180௢

 ∑ Int ∠ =   540௢

OR

Draw a Radius

Draw a Radius to Ext Pt.

Radii
Chord
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